March 2, 2020

28, Ilsm(IS'—ll‘)dt+I:°°(]l’—l3’)dx=

(A) 0.000 (C) 34415 (D) 46.000 (E) 136364

500 d 3")
Sl?: =1 dx 4 \-1 s _‘r‘(\
" Smﬂ AT S

= glﬁx‘le

! 2
| I (N u) (\3 mn
N ntd wall W3 |wll

= ( EL l l o I"d ST T

Error

(V )dx

lhl3 lnl\ eI

l 3
27, [ |x-1]dx= S t=xdxy gn—ldx
) \

i
e, %3
ﬁ/ﬂ [x~|= |

' 123 <(x<), k¢|

(A) 0 (B)




March 2, 2020

29j

sinx

(B) ln— €) I3 (D) ln? (E) Ine

)
M=8\.Y\X d“ |
= cosxdx g U '=\V\ M] = lhl‘lh{z:_
Z Y G,

"‘G “"‘U =lnfX

Led X2%4C

8. 11 [ dv=5 where cis a constant, then | ;:‘@\-:
(A) S+c B) 5 ©) 5-c (D) ¢-5 (E) -5
U=x-c e=C T
=g Lo o




March 2, 2020

2 |-

1+ x°

-10x

(1+x2)2

@SarctamHC

(A) +C

)

|

(B) %ln(l+x2)+C

(E) 51n(l+x2)+C

C +wrkmxaj

-»:Tc- dx = fardmax +C

©) Sx->+C
X

3
( ﬂzdh

1 1
40. If n is a non-negative integer, then Io x"dx= Io (1-x)" dx for
=

(A) non

(D) nonzero n, only

(B) neven,only

@ all n

(C) nodd, only




